# IDENTITIES INVOLVING PARTIAL DERIVATIVES OF BIVARIATE $B-q$ BONACCI AND $B-q$ LUCAS POLYNOMIALS 

S. Arolkar and Y.S.Valaulikar<br>Communicated by H. M. Srivastava

MSC 2010 Classifications: Primary 11B39, 11B83; Secondary 26A24
Keywords and phrases: $B-q$ bonacci sequence, $B-q$ bonacci polynomials, $B-q$ Lucas polynomials.


#### Abstract

In this paper some identities of $(k, j)^{\text {th }}$ order partial derivatives of $B-q$ bonacci and $B-q$ Lucas polynomials with respect to $x$ and $y$ are introduced.


## 1 Introduction

The classical Fibonacci sequence is an unique and fascinating string of numbers with interesting properties. This sequence has been extended in many directions depending upon its recurrence relation as well as the seed values or initial values. In [2], we introduced two extensions of Fibonacci sequence and called them $B$-Fibonacci sequence and $B$-Tribonacci sequence. This is further extended to $B-q$ bonacci sequence in [5]. Another interesting feature of study is to consider the polynomials associated with the Fibonacci sequence. In [6, 10, 11, 12], Fibonacci and Lucas polynomials in single variable are discussed, while in [8], bivariate Fibonacci and Lucas polynomials are introduced. In [1], we have extended these polynomials to bivariate $B$ Tribonacci polynomials and bivariate $B$-Tri Lucas polynomials defined respectively by

$$
\begin{gather*}
\left({ }^{t} B\right)_{n+2}(x, y)=x^{2}\left({ }^{t} B\right)_{n+1}(x, y)+2 x y\left({ }^{t} B\right)_{n}(x, y)+y^{2}\left({ }^{t} B\right)_{n-1}(x, y), \forall n \geq 1,  \tag{1.1}\\
\text { with }\left({ }^{t} B\right)_{0}(x, y)=0,\left({ }^{t} B\right)_{1}(x, y)=0 \text { and }\left({ }^{t} B\right)_{2}(x, y)=1,
\end{gather*}
$$

where the coefficients of the terms on right hand side of (1.1) are the terms of the binomial expansion of $(x+y)^{2}$ and $\left({ }^{t} B\right)_{n}(x, y)$ is the $n^{t h}$ polynomial,

$$
\begin{gather*}
\left({ }^{t} L\right)_{n+2}(x, y)=x^{2}\left({ }^{t} L\right)_{n+1}(x, y)+2 x y\left({ }^{t} L\right)_{n}(x, y)+y^{2}\left({ }^{t} L\right)_{n-1}(x, y), \forall n \geq 1,  \tag{1.2}\\
\text { with }\left({ }^{t} L\right)_{0}(x, y)=0,\left({ }^{t} L\right)_{1}(x, y)=2 \text { and }\left({ }^{t} L\right)_{2}(x, y)=x^{2}
\end{gather*}
$$

where the coefficients of the terms on right hand side of (1.2) are the terms of the binomial expansion of $(x+y)^{2}$ and $\left({ }^{t} L\right)_{n}(x, y)$ is the $n^{t h}$ polynomial. Further extensions of this idea can be seen in [3, 4].

In [7], the second derivative of Fibonacci and Lucas polynomials are introduced. The $k^{t h}$ derivative of Fibonacci and Lucas polynomials are discussed in [12], where as in [8], it is further extended to $(k, j)^{t h}$ order derivative of bivariate Fibonacci polynomials and bivariate Lucas polynomials. The identities of $(k, j)^{t h}$ order derivative of bivariate $B$-Tribonacci and $B$-Tri Lucas polynomials are studied in [1].

In this paper we extend (1.1) and (1.2) to bivariate $B-q$ bonacci and $B-q$ Lucas polynomials respectively, where $q \geq 2$ is any natural number. We also study the $(k, j)^{t h}$ order partial derivatives of these polynomials with respect to $x$ and $y$.

## 2 Bivariate $B-q$ bonacci and Bivariate $B-q$ Lucas Polynomials

In this section we define bivariate $B-q$ bonacci polynomials and bivariate $B-q$ Lucas polynomials and obtain some identities related to their first order partial derivatives with respect to $x$ and $y$.

Definition 2.1. Let $q \geq 2$ be any natural number. The bivariate $B-q$ bonacci polynomials are defined by

$$
\begin{equation*}
\left({ }^{q} B\right)_{n+q-1}(x, y)=\sum_{r=0}^{q-1} \frac{(q-1)^{r}}{r!} x^{q-1-r} y^{r}\left({ }^{q} B\right)_{n+q-2-r}(x, y), \forall n \geq 1 \tag{2.1}
\end{equation*}
$$

with $\left({ }^{q} B\right)_{i}(x, y)=0, i=0,1,2,3, \cdots, q-2$ and $\left({ }^{q} B\right)_{q-1}(x, y)=1$.
Here the coefficients of the terms on the R.H.S. are the terms of the binomial expansion of $(x+y)^{q-1},\left({ }^{q} B\right)_{n}(x, y)$ is the $n^{t h}$ polynomial and $p^{\underline{s}}$ is $p$ to the $s$ falling factorial [9].

With $q=2$, (2.1) reduces to (1) of [8] and $q=3$, it reduces to (1.1) above.
Some polynomials defined by (2.1) are listed below:

$$
\left({ }^{q} B\right)_{q-1}(x, y)=1,\left({ }^{q} B\right)_{q}(x, y)=x^{q-1},\left({ }^{q} B\right)_{q+1}(x, y)=x^{2(q-1)}+(q-1) x^{q-2} y
$$

$$
\text { and }\left({ }^{q} B\right)_{q+2}(x, y)=x^{3(q-1)}+2(q-1) x^{2 q-3} y+\frac{(q-1)(q-2)}{2} x^{q-3} y^{2}
$$

Following equation gives the $n^{t h}$ term of (2.1). We state the result without proof.

Theorem 2.2. The $n^{\text {th }}$ term of (2.1) is given by
$\forall n \geq q-1$.

With $q=2$, (2.2) reduces to equation (4) of [8] and $q=3$, it gives the $n^{t h}$ term of (1.1) above. We list it below.

$$
\left({ }^{t} B\right)_{n}(x, y)=\sum_{r=0}^{\left\lfloor\frac{2 n-4}{3}\right\rfloor} \frac{(2 n-4-2 r)^{\frac{r}{x}}}{r!} x^{2 n-4-3 r} y^{r}, \forall n \geq 2
$$

For simplicity, let us denote $\left({ }^{q} B\right)_{n}(x, y)$ by $\left({ }^{q} B\right)_{n}$. We prove below the results related to first order partial derivatives of $\left({ }^{q} B\right)_{n}$ with respect to $x$ and $y$.

Theorem 2.3. For all $n \geq 0$,
(i) $q y \frac{\partial}{\partial x}\left[\left({ }^{q} B\right)_{n}\right]+x \frac{\partial}{\partial x}\left[\left({ }^{q} B\right)_{n+1}\right]=(q-1)(n-(q-2))\left({ }^{q} B\right)_{n+1}$.
(ii) $\frac{\partial}{\partial x}\left[\left({ }^{q} B\right)_{n}\right]=\frac{\partial}{\partial y}\left[\left({ }^{q} B\right)_{n+1}\right]$.
(iii) $q y \frac{\partial}{\partial y}\left[\left({ }^{q} B\right)_{n}\right]+x \frac{\partial}{\partial y}\left[\left({ }^{q} B\right)_{n+1}\right]=(q-1)(n-(q-1))\left({ }^{q} B\right)_{n}$.
(iv) $\left.\left.q y \frac{\partial}{\partial y}\left[{ }^{( } B\right)_{n}\right]+x \frac{\partial}{\partial x}\left[{ }^{q} B\right)_{n}\right]=(q-1)(n-(q-1))\left({ }^{q} B\right)_{n}$.

Proof. (i) Note that equation (2.1) implies, for $0 \leq n \leq q-2$, L.H.S. $=0=$ R.H.S.
Let $n \geq q-1$ and take $n=q m$. Using (2.2) and L.H.S. of (i), we have

$$
\begin{aligned}
& q y \frac{\partial}{\partial x}\left[\left({ }^{q} B\right)_{q m}\right]+x \frac{\partial}{\partial x}\left[\left({ }^{q} B\right)_{q m+1}\right] \\
& =(q-1)(q m-(q-2)) x^{(q-1)(q m-(q-2))}+\sum_{r=1}^{(q-1) m-(q-2)}\left[q r \frac{((q-1)(q m-(q-2)-r))^{r}}{r!}\right.
\end{aligned}
$$

$$
\left.+\frac{((q-1)(q m-(q-2)-r))^{\frac{r+1}{}}}{r!}\right] x^{(q-1)(q m-(q-2)-r)-r} y^{r}
$$

$$
\begin{aligned}
= & (q-1)(q m-(q-2)) \\
& \sum_{r=0}^{(q-1) m-(q-2)} \frac{((q-1)(q m-(q-2)-r))^{r}}{r!} x^{(q-1)(q m-(q-2)-r)-r} y^{r} \\
= & (q-1)(q m-(q-2))(q B)_{q m+1} .
\end{aligned}
$$

Therefore, the result is true for $n=q m$.
Similarly, the result can be proved for $n=q m+1, \cdots, q m+q-1$. Hence (i) is proved.
Identity (ii) can be verified by differentiating $\left({ }^{q} B\right)_{n}$ and $\left({ }^{q} B\right)_{n+1}$ respectively with respect to $x$ and with respect to $y$. Identity (iii) can be proved using Identities (i) and (ii). Identity (iv) can be deduced from (ii) and (iii).

Definition 2.4. Let $q \geq 2$, be any natural number. We define the bivariate $B-q$ Lucas polynomials by

$$
\begin{equation*}
\left({ }^{q} L\right)_{n+q-1}(x, y)=\sum_{r=0}^{q-1} \frac{(q-1)^{r}}{r!} x^{q-1-r} y^{r}\left({ }^{q} L\right)_{n+q-2-r}(x, y), \forall n \geq 1 \tag{2.3}
\end{equation*}
$$

with $\left({ }^{q} L\right)_{i}(x, y)=0, i=0,1,2, \cdots, q-3,\left({ }^{q} L\right)_{q-2}(x, y)=2$ and $\left({ }^{q} L\right)_{q-1}(x, y)=x^{q-1}$, where the coefficients of the terms on the R.H.S. are the terms of the binomial expansion of $(x+y)^{q-1}$ and $\left({ }^{q} L\right)_{n}(x, y)$ is the $n^{t h}$ polynomial.

With $q=2,(2.3)$ reduces to (2) of [8] and $q=3$, it reduces to (1.2) above.
We list below few polynomials defined by (2.3).

$$
\begin{aligned}
& \left({ }^{q} L\right)_{q-2}(x, y)=2,\left({ }^{q} L\right)_{q-1}(x, y)=x^{q-1},\left({ }^{q} L\right)_{q}(x, y)=x^{2(q-1)}+2(q-1) x^{q-2} y, \\
& \text { and }\left({ }^{q} L\right)_{q+1}(x, y)=x^{3(q-1)}+3(q-1) x^{2 q-3} y+(q-1)(q-2) x^{q-3} y^{2}
\end{aligned}
$$

For simplicity, we denote $\left({ }^{q} L\right)_{n}(x, y)$ by $\left({ }^{q} L\right)_{n}$. We state the theorem related to $n^{\text {th }}$ term of (2.3).

Theorem 2.5. The $n^{\text {th }}$ term of (2.3) is given by

$$
\begin{aligned}
& \left({ }^{q} L\right)_{n} \\
& =\sum_{r=0}^{p}\left[\frac{(q-1)(n-(q-2))}{(q-1)(n-(q-2)-r)} \frac{((q-1)(n-(q-2)-r))^{\underline{r}}}{r!}\right] x^{(q-1)(n-(q-2))-q r} y^{r} \\
& \quad-\sum_{r=2}^{p}\left[\sum_{s=1}^{q-1}(s-1) \frac{((q-1)(n-(q-1)-r)+s-2)^{\frac{r-2}{}}}{(r-2)!}\right] x^{(q-1)(n-(q-2))-q r} y^{r}, \\
& \forall n \geq q-1, \text { where } p=\left\lfloor\frac{(q-1)(n-(q-2))}{q}\right\rfloor .
\end{aligned}
$$

In particular for $q=3$, the $n^{t h}$ term of (2.3) defined above is given by $\left({ }^{t} L\right)_{n}$

$$
=\sum_{r=0}^{\left\lfloor\frac{2 n-2}{3}\right\rfloor}\left(\frac{(2 n-2)}{(2 n-2-2 r)} \frac{(2 n-2-2 r)^{r}}{r!}-r(r-1) \frac{(2 n-4-2 r) \frac{r-2}{}}{r!}\right) x^{2 n-2-3 r} y^{r}, \forall n \geq 2
$$

Note that for $q=2$, (2.4) reduces to (5) of [8].

Following theorem gives the relation between bivariate $B-q$ bonacci and bivariate $B-q$ Lucas polynomials.

Theorem 2.6. For all $n \geq q-1$,

$$
\begin{equation*}
\left({ }^{q} L\right)_{n}=\left({ }^{q} B\right)_{n+1}+\sum_{r=1}^{q-1} \frac{(q-1)^{r}}{r!} x^{q-1-r} y^{r}\left({ }^{q} B\right)_{n-r} \tag{2.5}
\end{equation*}
$$

Proof. We prove the theorem by principle of mathematical induction on $n$. Note that (2.5) is true for $n=q-1$.

Assume that the result is true for $n \leq m$. Then,

$$
\begin{aligned}
& \left({ }^{q} L\right)_{m+1}=\sum_{r=0}^{q-1} \frac{(q-1)^{\underline{r}}}{r!} x^{q-1-r} y^{r}\left({ }^{q} L\right)_{m-r} \\
& \quad=\sum_{r=0}^{q-1} \frac{(q-1)^{\underline{r}}}{r!} x^{q-1-r} y^{r}\left[\left({ }^{q} B\right)_{m+1-r}+\sum_{s=1}^{q-1} \frac{(q-1)^{s}}{s!} x^{q-1-s} y^{s}\left({ }^{q} B\right)_{m-r-s}\right] \\
& \quad=\left({ }^{q} B\right)_{m+2}+\sum_{s=1}^{q-1} \frac{(q-1)^{s} s}{s!} x^{q-1-s} y^{s}\left({ }^{q} B\right)_{m+1-s} .
\end{aligned}
$$

Hence the result follows.
Following result follows immediately.
Corollary 2.7.

$$
\begin{equation*}
\left({ }^{q} L\right)_{n}=2\left({ }^{q} B\right)_{n+1}-x^{(q-1)}\left({ }^{q} B\right)_{n}, \forall n \geq q-2 \tag{2.6}
\end{equation*}
$$

Proof. Note that $2\left({ }^{q} B\right)_{q-1}-x^{(q-1)}\left({ }^{q} B\right)_{q-2}=2=\left({ }^{q} L\right)_{q-2}$. Hence, equation (2.6) is true for $n=q-2$. For $n \geq q-1$, the result can be proved using equation (2.1) and Theorem 2.6.

We prove below the identities related to first order partial derivatives of $\left({ }^{q} L\right)_{n}$ with respect to $x$ and $y$.

Theorem 2.8. For all $n \geq 0$,
(i) $q y \frac{\partial}{\partial x}\left[\left({ }^{q} L\right)_{n}\right]+x \frac{\partial}{\partial x}\left[\left({ }^{q} L\right)_{n+1}\right]$

$$
=(q-1)(n-(q-3))\left({ }^{q} L\right)_{n+1}-q(q-1) x^{q-2} y\left(^{q} B\right)_{n}
$$

(ii) $\frac{\partial}{\partial x}\left[\left({ }^{q} L\right)_{n}\right]=\frac{\partial}{\partial y}\left[\left({ }^{q} L\right)_{n+1}\right]-(q-1) x^{q-2}\left({ }^{q} B\right)_{n}$.
(iii) $q y \frac{\partial}{\partial y}\left[\left({ }^{q} L\right)_{n}\right]+x \frac{\partial}{\partial y}\left[\left({ }^{q} L\right)_{n+1}\right]$
$=(q-1)(n-(q-1))\left({ }^{q} L\right)_{n}+2(q-1)\left({ }^{q} B\right)_{n+1}$.
(iv) $q y \frac{\partial}{\partial y}\left[\left({ }^{q} L\right)_{n}\right]+x \frac{\partial}{\partial x}\left[\left({ }^{q} L\right)_{n}\right]=(q-1)(n-(q-2))\left({ }^{q} L\right)_{n}$.

Proof. (i) Note that equation (2.3) implies, for $0 \leq n \leq q-3$, L.H.S. $=0=$ R.H.S.
For $n \geq q-2$, we have $\left({ }^{q} L\right)_{n}=2\left({ }^{q} B\right)_{n+1}-x^{(q-1)}\left({ }^{q} B\right)_{n}$, (from Corollary 2.7).
Differentiating both sides with respect to $x$, we get

$$
\frac{\partial}{\partial x}\left[\left({ }^{q} L\right)_{n}\right]=2 \frac{\partial}{\partial x}\left[\left({ }^{q} B\right)_{n+1}\right]-x^{(q-1)} \frac{\partial}{\partial x}\left[\left({ }^{q} B\right)_{n}\right]-(q-1) x^{q-2}\left({ }^{q} B\right)_{n}
$$

Also,

$$
\frac{\partial}{\partial x}\left[\left({ }^{q} L\right)_{n+1}\right]=2 \frac{\partial}{\partial x}\left[\left({ }^{q} B\right)_{n+2}\right]-x^{(q-1)} \frac{\partial}{\partial x}\left[\left({ }^{q} B\right)_{n+1}\right]-(q-1) x^{q-2}\left({ }^{q} B\right)_{n+1}
$$

Thus, using (i) of Theorem 2.3, we get

$$
\begin{aligned}
& q y \frac{\partial}{\partial x}\left[\left({ }^{q} L\right)_{n}\right]+x \frac{\partial}{\partial x}\left[\left({ }^{q} L\right)_{n+1}\right] \\
& =2(q-1)(n-(q-3))\left({ }^{q} B\right)_{n+2}-x^{q-1}(q-1)(n-(q-3))\left({ }^{q} B\right)_{n+1} \\
& -x^{q-1}(q-1)\left({ }^{q} B\right)_{n+1}-(q-1) x^{q-2}\left(q y\left({ }^{q} B\right)_{n}+x\left({ }^{q} B\right)_{n+1}\right) \\
& =(q-1)\left(n-(q-3)\left({ }^{q} L\right)_{n+1}-q(q-1) y x^{q-2}\left({ }^{q} B\right)_{n} .\right.
\end{aligned}
$$

Similarly, the other identities can be proved.

## 3 Main Results

In this section, we prove some identities involving $k^{t h}$ order partial derivative with respect to $x$ and $j^{t h}$ order partial derivative with respect $y$ of bivariate polynomials $\left({ }^{q} B\right)_{n}$ and $\left({ }^{q} L\right)_{n}$, where $k, j \geq 0$.

Let $(.)^{(k, j)}=\frac{\partial^{k+j}}{\partial x^{k} \partial y^{j}}[()],.(.)^{(s, 0)}=\frac{\partial^{s}}{\partial x^{s}}[()$.$] and (.)^{(0, p)}=\frac{\partial^{p}}{\partial y^{p}}[()$.$] .$
We have the following identities.
Theorem 3.1. For all $n \geq q-1$,
(i) $\left.{ }^{q} L\right)_{n}^{(k, j)}=\left({ }^{q} B\right)_{n+1}^{(k, j)}$

$$
+\sum_{r=1}^{q-1} \frac{(q-1)^{r}}{r!} \sum_{s=0}^{q-1-r} \sum_{p=0}^{r} \frac{k^{\underline{s}}}{s!} \frac{j^{\underline{p}}}{p!}\left(x^{q-1-r}\right)^{(s, 0)}\left(y^{r}\right)^{(0, p)}\left({ }^{q} B\right)_{n-r}^{(k-s, j-p)} .
$$

(ii) $\left.{ }^{q} B\right)_{n}^{(k, j)}$
$=\sum_{r=0}^{q-1} \frac{(q-1)^{\underline{r}}}{r!} \sum_{s=0}^{q-1-r} \sum_{p=0}^{r} \frac{k^{\underline{s}}}{s!} \frac{j^{\underline{t}}}{p!}\left(x^{q-1-r}\right)^{(s, 0)}\left(y^{r}\right)^{(0, p)}\left({ }^{q} B\right)_{n-1-r}^{(k-s, j-p)}$.
(iii) $\left({ }^{q} L\right)_{n}^{(k, j)}$
$=\sum_{r=0}^{q-1} \frac{(q-1)^{r}}{r!} \sum_{s=0}^{q-1-r} \sum_{p=0}^{r} \frac{k^{s}}{s!} \frac{j^{\underline{p}}}{p!}\left(x^{q-1-r}\right)^{(s, 0)}\left(y^{r}\right)^{(0, p)}\left({ }^{q} L\right)_{n-1-r}^{(k-s, j-p)}$.
(iv) $(q-1)(n-(q-2))\left({ }^{q} B\right)_{n+1}^{(k, j)}$
$=q y\left({ }^{q} B\right)_{n}^{(k+1, j)}+q j\left({ }^{q} B\right){ }_{n}^{(k+1, j-1)}+x\left({ }^{q} B\right)_{n+1}^{(k+1, j)}+k\left({ }^{q} B\right)_{n+1}^{(k, j)}$.
(v) $(q-1)(n-(q-1))\left({ }^{q} B\right)_{n}^{(k, j)}$
$=q y\left({ }^{q} B\right)_{n}^{(k, j+1)}+q j\left({ }^{q} B\right)_{n}^{(k, j)}+x\left({ }^{q} B\right)_{n+1}^{(k, j+1)}+k\left({ }^{q} B\right)_{n+1}^{(k-1, j+1)}$.
(vi) $\left.{ }^{q} B\right)_{n}^{(k+1, j)}=\left({ }^{q} B\right)_{n+1}^{(k, j+1)}$.
(vii) $(q-1)(n-(q-1))\left({ }^{q} B\right)_{n}^{(k, j)}$
$=q y\left({ }^{q} B\right)_{n}^{(k, j+1)}+x\left({ }^{q} B\right){ }_{n}^{(k+1, j)}+(k+j q)\left({ }^{q} B\right){ }_{n}^{(k, j)}$.
(viii) $(q-1)(n-(q-3))\left({ }^{q} L\right)_{n+1}^{(k, j)}$
$=q y\left({ }^{q} L\right)_{n}^{(k+1, j)}+q j\left({ }^{q} L\right)_{n+1}^{(k+1, j-1)}+x\left({ }^{q} B\right)_{n}^{(k+1, j)}+k\left({ }^{q} B\right)_{n+1}^{(k, j)}$
$+q(q-1) \sum_{s=0}^{q-2} \frac{k^{s}}{s!}\left(x^{q-2}\right)^{(s, 0)}\left[y\left({ }^{q} B\right)_{n}^{(k-s, j)}+j\left({ }^{q} B\right)_{n}^{(k-s, j-1)}\right]$.
(ix) $(q-1)(n-(q-1))\left({ }^{q} L\right)_{n}^{(k, j)}+2(q-1)\left({ }^{q} B\right){ }_{n}^{(k, j)}$
$=q y\left({ }^{q} L\right)_{n}^{(k, j+1)}+q j\left({ }^{q} L\right)_{n}^{(k, j)}+x\left({ }^{q} L\right)_{n+1}^{(k, j+1)}+k\left({ }^{q} L\right)_{n+1}^{(k-1, j+1)}$.
(x) $\left({ }^{q} L\right)_{n}^{(k+1, j)}=\left({ }^{q} L\right)_{n+1}^{(k, j+1)}-(q-1) \sum_{s=0}^{q-2} \quad \frac{k^{\underline{s}}}{s!}\left(x^{q-2}\right)^{(s, 0)}\left({ }^{q} B\right)_{n}^{(k-s, j)}$.
(xi) $(q-1)(n-(q-2))\left({ }^{q} L\right)_{n}^{(k, j)}$
$=q y\left({ }^{q} L\right){ }_{n}^{(k, j+1)}+x\left({ }^{q} L\right){ }_{n}^{(k+1, j)}+(k+j q)\left({ }^{q} L\right){ }_{n}^{(k, j)}$.

## Proof.

(i) Note that $\left({ }^{q} L\right)_{n}=\left({ }^{q} B\right)_{n+1}+\sum_{r=1}^{q-1} \frac{(q-1)^{r}}{r!} x^{q-1-r} y^{r}\left({ }^{q} B\right)_{n-r}$.

Differentiating both sides $k$ times with respect to $x$ and $j$ times with respect to $y$ and using Leibnitz theorem for derivatives, we get
$\left({ }^{q} L\right)_{n}^{(k, j)}=\left({ }^{q} B\right)_{n+1}^{(k, j)}+\sum_{r=1}^{q-1} \frac{(q-1)^{\underline{r}}}{r!} \frac{\partial^{k}}{\partial x^{k}}\left(x^{q-1-r} \sum_{p=0}^{r} \frac{\underline{j}^{\underline{p}}}{p!}\left(y^{r}\right)^{(0, p)}\left({ }^{q} B\right)_{n-r}^{(0, j-p)}\right)$
$=\left({ }^{q} B\right)_{n+1}^{(k, j)}$
$+\sum_{r=1}^{q-1} \frac{(q-1) \underline{r}}{r!} \sum_{s-0}^{q-1-r} \frac{k^{\underline{s}}}{s!}\left(x^{q-1-r}\right)^{(s, 0)} \sum_{p=0}^{r} \frac{j^{\underline{p}}}{p!}\left(y^{r}\right)^{(0, p)}\left({ }^{q} B\right)_{n-r}^{(k-s, j-p)}$
$=\left({ }^{q} B\right)_{n+1}^{(k, j)}$
$+\sum_{r=1}^{q-1} \frac{(q-1)^{\underline{r}}}{r!} \sum_{s=0}^{q-1-r} \sum_{p=0}^{r} \frac{k^{\underline{s}}}{s!} \frac{j \underline{p}}{p!}\left(x^{q-1-r}\right)^{(s, 0)}\left(y^{r}\right)^{(0, p)}\left({ }^{q} B\right)_{n-r}^{(k-s, j-p)}$.

Hence (i) is proved.
(ii) We have from (2.1), $\left({ }^{q} B\right)_{n}=\sum_{r=0}^{q-1} \frac{(q-1)^{\underline{r}}}{r!} x^{q-1-r} y^{r}\left({ }^{q} B\right)_{n-1-r}$.

Differentiating both sides $k$ times with respect to $x$ and $j$ times with respect to $y$ and using Leibnitz theorem for derivatives, we get
$\left({ }^{q} B\right)_{n}^{(k, j)}=\sum_{r=0}^{q-1} \frac{(q-1)^{r}}{r!} \frac{\partial^{k}}{\partial x^{k}}\left(x^{q-1-r} \sum_{p=0}^{r} \frac{j^{p}}{p!}\left(y^{r}\right)^{(0, p)}\left({ }^{q} B\right)_{n-1-r}^{(0, j-p)}\right)$
$=\sum_{r=0}^{q-1} \frac{(q-1)^{\underline{r}}}{r!} \sum_{s=0}^{q-1-r} \frac{k^{\underline{s}}}{s!}\left(x^{q-1-r}\right)^{(s, 0)} \sum_{p=0}^{r} \frac{j^{\underline{p}}}{p!}\left(y^{r}\right)^{(0, p)}\left({ }^{q} B\right)_{n-1-r}^{(k-s, j-p)}$
$=\sum_{r=0}^{q-1} \frac{(q-1)^{r}}{r!} \sum_{s-0}^{q-1-r} \sum_{p=0}^{r} \frac{k^{s}}{s!} \frac{j^{\underline{p}}}{p!}\left(x^{q-1-r}\right)^{(s, 0)}\left(y^{r}\right)^{(0, p)}\left({ }^{q} B\right)_{n-1-r}^{(k-s, j-p)}$.

Hence (ii) is proved.
Similarly, we can prove the identity (iii). Using Leibnitz theorem for derivatives, (iv), (v), (vi) and (vii) can be obtained by differentiating identities (i), (ii), (iii) and (iv) of Theorem 2.3 respectively on both sides, $k$ times with respect to $x$ and $j$ times with respect to $y$. Identities (viii), (ix),(x) and (xi) can be proved using similar procedure.

## References

[1] S. Arolkar, Y. S. Valaulikar, Generalized Bivariate B-Tribonacci and B-Tri-Lucas Polynomials, National conference proceedings at JNU, New Delhi, 10-13 (2015).
[2] S. Arolkar, Y. S. Valaulikar, On an Extension of Fibonacci Sequence, Bulletin of Marathwada Mathematical Society, Aurangabad, Maharashtra, India 17(2), 1-8 (2016).
[3] S. Arolkar, Y. S. Valaulikar, Incomplete $h(x)$-B-Tribonacci Polynomials, Turkish Journal of Analysis and Number Theory 4(6), 155-158 (2016).
[4] S. Arolkar, Y. S. Valaulikar, $h(x)$-B-Tribonacci and $h(x)$-B-Tri Lucas Polynomials, Kyungpook Mathematical Journal 56(4), 1125-1133 (2016).
[5] S. Arolkar, Y. S. Valaulikar, On a B-q bonacci Sequence, International Journal of Advances in Mathematics 2017(1), 1-8 ( 2017).
[6] S. Falcón, Á. Plaza, On k-Fibonacci sequences and Polynomials and their derivatives, Chaos, Solitons and Fractals 39, 1005-1019 (2009).
[7] P. Filipponi and A. F. Horadam, Second Derivative Sequences of Fibonacci and Lucas Polynomials, The Fibonacci Quarterly 31(3), 194-204 (1993).
[8] Y. Hongquan and L. Chuanguang, Identities Involving Partial Derivatives of Bivariate Fibonacci And Lucas Polynomials, The Fibonacci Quarterly 35(1), 19-23 (1997).
[9] W.G. Kelly, A.C. Patterson, Difference Equations: An introduction with Applications, Academic Press, An Imprint of Elsevier (2006).
[10] T. Koshy, Fibonacci and Lucas numbers with Applications, A wiley-inter science publication (2001).
[11] S. Vajda, Fibonacci and Lucas numbers and the Golden section: Theory and Applications, Dover Publications (2008).
[12] J. Wang, On the $\mathrm{k}^{t h}$ Derivative Sequences of Fibonacci and Lucas Polynomials, The Fibonacci Quarterly 33(2), 174-78 (1995).

## Author information

S. Arolkar, Department of Mathematics, Dnyanprasarak Mandal's College and Research Centre Assagao, Bardez Goa 403 507, INDIA.
E-mail: suchita.golatkar@yahoo.com
Y.S.Valaulikar, Department of Mathematics, Goa University

Taleigaon Plateau, Goa 403 206, INDIA.
E-mail: ysv@unigoa.ac.in; ysvgoa@gmail.com

